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STUDY CENTRE
TET PAPER - 11

GWHmS Cbur@ LBEBILD SBLISSH
ugg 1

. GWHMHBMET 2aHGaIUSBHTS PFMNWLT @eIOeuT(h OCFWEOLTL 96T (LIgaleVid

B eNILSH6T 6UIDHIGIS

a. (PSHMEV UGG L LD b. @yewiLmbd Blenev UL L 1D

C. CLPGTMBTID Hlewey GUEVIaYL L LD d. @euBmie eIgIa|l0m6V

In order to motivate children, a teacher offers some sweets for the completion of
each problem. This is a

a. Primary reinforcer b. Secondary reinforce

c. Tertiary reinforcer d. none of these.

. Qoupplls Heflled MBS GWhHmS e6lalshd BhHmeuenut 61 TCHTHEGHBSHI?

a. SIJEUMGHILIL| b. oi@ued. et 60

C. SlMLa d. unglsTiy o _ewiiey

A child who is more delighted with success, is possessing the need for
a. affection b. approval c. achievement d. security

. QFNWT Heig SBLISSHID aleneaiwiT(G (peBenwl 2 BETEUILGSSHINSI

a. Upelwl 261G 6ls 60 b. oo 2aEGalhHe

C. SIMLAI 2a5HGH65HH60 d. euBmien erFHIe|e0meL

A teacher who encourages the playway method in his teaching explores
a. Extrinsic motivation b. Intrinsic motivation

c. Achievement metivation d. none of these

. AT Heigl LML BL SHSHIHeVT SHI LD HuMhSHHe0le0 LleiTeu(hHeueTeuBmIeT 61LD(LPeNB
CUTHSSLOTRISHTS HHSLILIBGSBSHI?

a. Fups eUMIAILId (Lens b. syemem (Lpemy

C. USSHHTEH (YO[B d. miewteniley (wens

What type of tests are most suitable for the teacher in planning his teaching
strategies?

a. Sociometric tests b. Personality tests

c. Creativity tests d. Intelligence tests

. @@ seoipufler sl QUTmHSSILTLH BLHOGHMW 6Ceuellssml BLD (&) e6miHev6s
a. peilG GubupsHaiur L Gwellened LD6ID
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b. p&iE® BeneOlL SHHILLL  HETEI6NITe] LDETLD

C. FHMpHlenev Waig Gelmey WaTmsd DUFHeHHD OCIFUISHE

d. smpBlenev L&D, HeaTaieniTa] WD wHBEID Geflaned DD 66DEVT(PD @(HEHIGCH
LIGO(LPL 6T @) (hH@SLD [Hlen6v

An individual showing well adjusted personality is characterised by

a. well developed superego

b. well balanced ego

c. domination of id over superego

d. id, ego and superego are equally powerful.

6. Slgeomel UTL UGS sBLISs udflwim ‘elmliuwter Sreu GO Hener’
LWTUGSHSHISBTT. DI QFCFwWeOLITL 19ene 6wI(BHLD WemwIBLD OFUIOISHT6D  LDTETEUTH6NT
UTL S &Hlenedt  all(HLOLFBITH6T. DI
a. pwery SHeuplld HBMBeL b. g5 BHameoulnidhsHs0
C. yooaisml fléb Hmmed d. smelant ouéHs, Haeoulpisbasid
A teacher tries to teach a complex idea with the help of some pleasant stimulus
and after repeated use of the situations, the students liked the subject. The theory
underlying this method is
a. Trial and Error learning b. Classical conditioning
c. Perceptual learning d. Operant conditioning

7. SWILED - HIGVHIBED UMBHIMBBEL 6Hh&HS GHT UM 196160 Hleneouwl(hHSLILIGSBSI?

a. Q5B HeneoulHHHLD b GerdLmedl BmMmed

C. (pwery Haupled SMBBeD d. smelsnt 9o HemeoulnishsHLd
Stimulus-Reponse bondiis established in

a. Classical conditioning b. Gestalt learning

c. Trial and Error learhing d. Operant conditioning

8. @ILGBUUTLSHMS Oaupib@d Gwhmsdulemer GhTomBUWITE SHhHSD (LPUILaISDI
a. CaupuBsHIHIHE0 (s b. smalant b5s Baveoulnihs (Wenm
C. BpHH6L -BLBUUTL(H (Lpens d. SewiB HBBeL (LHeMB
A child who shows an aversion towards homework is to be corrected positively.
Which technique would you suggest?
a. Discrimination method b. Instrumental conditioning
c. Deconditioning method d. Relearning method

9. &levGunimgealt &L Lenwoli LorgHlifluler alenereyd HmyenllaelT 666l ?
a. FbadHHe0, IBeYsFTT GFUWed WBMID HTTOIOBIHE0 (HTT60ID 666 H6V)
b. QurmeT, GFweoLTBH6T WBBID alenerey
C. QFWe6LHMEVEH6IT, OCFWOLITHSH6T OBMID HI L (LpenBEH6I
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d. GFweoun(Bser, OFWLBMELE6T BHBID CFLILAMerTe)
What are the determinants of Guilford’s model of intellect?
a. Thinking, cognition and reasoning

b. Content, operation and product

c. Operation, process and systems

d. Process, operation and product

alewenm B &Mibs alagumisened HeldhHBeOOCWTH alenhiGD GHWHeNHUIL LD
DIHBOTS (UL

a. HHHSHWeL (AL LD FMHS) HIewTewInse)]

b. QaTLT (LgPBlewev) SHewild HiewTenipie]

C. 2 L60 - OFHTH 2 _6wIT [HlewIewinse)]

d. Upweis miewrewnsey

A child who performs better in sports and games is deminant with

a. Spatial intelligence b. Logical Mathematical intelligence

c. Bodily Kinesthetic intelligence d. Interpersomal intelligence

eTEeU(pFS) ‘BTHTTerdlerd’ 6Tl

a. werbleupsd Geuellui®

b. werGeupFulesr QUITHETH M6V

C. LBmeuTHeaiar WwealbeupFdlamul LfhgIosmeiTeneD

d. wernwFAeur Bt Hmevld (@ _6Tef(hHd MalHHe0
Emotional catharsis means

a. free release of emotional energy

b. spontaneous expression.of emotions

c. sharing of other’s emotions

d. storing the emotions for a long time

‘eifidgen olauTsefer Camlur®h GeualliLBHHID HHSHIB

a. 2 eniugliuruie] G um® b. weigaiwed Gsm ur®
c. afeyeuenidlant Gamur®h d. 2 _e& - Feps Gsm ur®
Erickson’s theory explains the concept of

a. Psychoanalytic theory

b. Humanistic theory

c. Cognitive development theory

d. Psycho-social development theory

SIleyamt euenTFdled Camium@ @WbHmSUIeT 6Ihe LIGHIL|SHmer
WSS SSIUILBSHSISBSI?
a. (WpHTEF b. @eamisHeo
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C. Q(PHBBLD d. supsTw @EEWHILTEG (FPSE FTLENLD)
Cognitive development theory emphasizes the characteristics of child’s
a. Maturation b. Identity

c. Morality d. Sociability

LOTEOOTEUTHEIIGN  (LP(LDEMLOWITEN ([Blemmeunes) SeuanHendll Cum  LlesTe(hHeueneuBmielt
eID(Lpemm  OILIT(HHSHILD?

I. sremGouTmeier O THEH LOBBID 2 (Hausienmel |5 HflgeHe0

II. BemOFwed WwBBID UKD GCFWEOLITLI9enaT 6UeSUIMISHSHIFH60

a. gapm (I) w' G sflwurars

b. apmiser (I) wspd (II) sflwmersesvso

c. apmiser (I) wmpd (II) sfwmereneu

d. ampm () sflwrers

For capturing maximum attention of students, which of the following is
correct?

I. Intensity and size of the stimulus must be increased

II. Repetition and novelty should be emphasized

a. Only statement (I) is correct

b. Statements (I) and (II) are not correct

c. Both the statements (I) and (II) arefeorrect

d. Statement (II) is correct

LeTeu(HeUMBMIGT 61&H HEUT GUMBMUL FTITHSHI?

a. UpSH&HH SHeU6ILD

b. BuBemawrer @eaueid (CFuwedens SeaieidsHe0)

c. Qewmmaswner seuealbw(QFLIGTH SHeu6TdSH60)

d. uBRGamBL HeueD

Which of the following is not a type of attention?

a. Habitual attention b. Involuntary attention
c. Volitional attention d. Participatory attention

Lesteu(heueteummien o1& LBSHCHBmI (penpullest S eugmgl?
a. WerGFT LT LeLBlene0 Emewnd CxHiTey

b. Gynitervgns emwHL & GFmgHeme

C. auTHSHWID Hlewme GFU1SH60

d. QuImHeTBICauTH Bmenisas BFTHement

Which of the following is not a projective test?

a. Minnesota Multiphasic Personality inventory

b. Rorschach Ink blot test

c. Sentence completion test

www.gfort.in



17.

18.

19.

20.

21.

www.gfort.in G-Fort Academy www.gfort.in
d. Thematic Apperception test

LOTEUOTTEUT BTG U(HemBMUW DleNbHMIW AT NevTeu(hHeueTeuBmIeT EID(LPEDMBENU
MBS UWITEIT6VMLD?

a. 76 Cammed b. wuwmBens uHGubH

c. Oz fleyGasmed d. elemiiger (pews

To assess the absenteeism of students regularly, a teacher can use
a. rating scales b. cumulative record

c. check list d. questionnaire

BHMNBHHH60 LIevaTaIomer LomewTeuT GmPl uUTL $Hev FpbaH alenhiGHeag eelals
BL HDSHMW FT(HLD?

a. QAMILICLITHEO (eITHIH6V) b. FBOFUIHEO

C. SIeNID SBLISSH60 d. uBGasBHIBD (UBSEBHHD)

A child who is weak in mathematics, tries to excel inilanguage is using the
mechanism of

a. Identification b. Compensation

c. Retionalisation d. Projection

LOTEOTOUT SH&NIH CFTHBHL LIJFFmeILL 631, O LhISEeT DIDISINT6D © HISH6N6T DIQLILIEDL
QFweoun(® e1HIUTS B(HHEGLD?

a. UpFsenaiullel Smyenibisene LighSHSHmUIHe0

b. anfemy UBTUM®T SEIBF CFTaLIGHE

C. UpFgemen (Fobs60)-23 HTRMH. (WSS Ued] STHH(HHHF OFU1%H60

d. auflasm BGHed eUDEIGHH60

When a student approaches you with a personal problem, what initial strategy
will you provide?

a. Analyse the causes of the problem

b. Ask to consult a counselor

c. wait so that the problem can be solved by himself

d. Provide guidance

Ueteuhd GQUWITSHEMED 6ToUT DigMIGLGUT DUl DIBleYenJLl LISTHEN6V  (LP63IeotmIsSuieuiT

a. fbewil LFmui® b. auliyammd wrerdGeorr
C. allevedlUILDg 6oT d. a&nited Gyraiterd
Who put forward the client centred counseling?

a. Sigmund Freud b. Abraham Maslow
c. Williamson d. Carl Rogers

&60al Sl el GbUBHSID CFweOUTL IgeneT LisalmealaiouBBIen 6lha (Lenmulledt
B UMBLILBHSHSH6UTD?
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a. 9560ETHE (pens b. selwrer ugliLmuie) (penm

c. Gammemern (Lpomm d. o BBCETHEH6L (WeB

Which of the following methods will you use to study the effectiveness of
activity method in imporving academic performance?

a. Introspection method b. Case study method

c. Experimental method d. Observation method

‘Gevalufled 2 enailuled’ HLHmHmW Slaluled LTauors alend@ealdl

a. STl LBub b. smIGUNT wBBID SBEGLITT

Cc. wals BEID WI([HS d. sBGuni w B

Educational psychology explains the scientific study of the behaviour of
a. all individuals b. teacher and learners

c. both human and animals d. learners only

SHONWTeT el o me|lpenpser UBBul o snalulsd Lifley

a. 9fleyamT o enailuied b. Gamfeosti 2 enaiuied

C. (BB 2 6naiuled d. Faps olenailuisd

The branch of psychology that deals with interrelationships among individuals is
known as

a. Cognitive psychology bsIndustrial psychology

c. Clinical psychology di, Social psychology

CBHTGHSHIBH60 (Ppenpuler Sjglidenl.. eueniTFdld Gsmumb

a. 2 61 QU (bsey &l b. QuTrHs ol

C. &(meir alg) d. Gurgiameiemeuuledmha FpliLmaeneal &g
What is the basic principle of development applied in the inductive approach?
a. Principle of interrelation b. Principle of proximo-distal

c. Principle of spirality d. Principle of general to specific

. OIBleY&FTT euenT&FFL LHlensudeiiled GUBIUIL (B FoaUThHmen LfHe CHTeTEHD Hlenev

a. Levelwidhd MHlenew b. GrweBeney (LevafLmer GFuied Hlenev)

C. (PBOFUWED Hlewev d. wwseswed mHenev

Which stage of cognitive development is suitable to teach the symbolic
representation of equations in science?

a. Sensori-motor stage b. Concrete - operational stage

c. Pre-operational stage d. Formal-operational stage

uTfiemey eUlPld SBGLD Tewieueny BHalT FhHHd GCBHiTbHSHTe, LieeumeueaTeumnIeT

THBMBMEV (LMD DIITHEHDHEG OFHMey GFuIaT?
a. WeOFmed (pewm (LBLG&Fmed (Lpemm) b. &S UDTLIL FBIG6T
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C. OBTLILPNDB HIEDIHHLID d. alewemum B HlemIisbad

When you are confronted with a visual learner, which learning method would
you suggest?

a. Recitation method b. Concept mapping

c. Association technique d. Gaming technique

27. &1 GWhHMSHH6T FHhGeNgH OUBECBTeny UBBW GHedBUTBHmeT LB
BuaHOEBTETEHHEL 6T61IEUMBMUI  FTTHSHHI?

[. QuBGBTT yBLDSE6TEHH6L

IL Wssampbs GbLU SbET6)

III. sefenwi L QuBGTT

IV. QupGumiler @il LTgISTIIL

BeuBmlei:

a. SAGHHID Filwimereney b. (I), (III) wsp (IV) &fwreremey

c. (I), D) wmpd ) sflwmerensy d. eemeuud FRUITETMEULLIEED

In one of the informal discussions in the classroom, tworchildren are identified
who are complaining about their parental conflicts. The problem associated with the
children is

I. Parental rejection

II. Poor family support

III. Isolated Parents

IV. Parental overprotection

Among these statements

a. All are correct b. (I), (III) and (IV) are correct
c. (I), (IT) and (I1I) are correct d. None of them is correct

28. enleu(pFd) HlewTeniBlall 61 OHTLTL6T6N (LpSH&SIW LT

a. G.W. geoBumit: b. GLalwed GamevGILD6IT
C. QameurT® ST 6T d. ]J.P. &e0Gunitp

The chief exponent of emotional intelligence is

a. G.W. Allport b. Daniel Goleman

c. Howard Gardner d. J.P. Guilford

29. Coupun(hseil DIF&(WelTen  auGLiLienBulleied oy dMui
a. @8y apempwiter SMLISHHmev GLoBO\BT6TENGeuemI(HLD
b. Gubmaser SeuTseller alduuliug sBs D@ILSoHIL Ceuami(HLd
C. gMFHMens GHWhmpHaiea CoHemeusenen (WPHHWILGSHS, FgraMumCearmmss
B(BLIS 560
d. selwmer sBLISH0 (PedBHM6T LWGETLBHHHIH60
In a diversified classroom, the teacher should
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a. use a single mode of teaching

b. permit the students to learn according to their willingness

c. highlight the needs of normal children and teach at the average level
d. use individualized learning strategies

30. sBmeL aumenGanh DHemen OleuellbaTl HHmSI
a. ammev OFweoLT(hHHeNeT alevdHHMHSH GHBIHHEBSH
b. aBmed wempuienen @GplbaBa
c. aBGunfler suenmHlensvemwis GHNESBSHI
d. euil G u_saBBed Syl GBlsIBE
Learning curve depicts
a. Curve showing the deviations of learning process
b. Diagram representing the mode of learning of a group
c. Graph representing the learner’s progression with‘®ime
d. Symbolic map of factors of learning

uggs — II
SLOWD
31. sflwrnereuBenss CsHitey GFUIH:
a. &IT60T - BIJIQ
® (pewed - FmIBLD
LDL_MRI&60 - el
61601 (&) - &MH
b.  amern - &1
® ey - Lol
LOL_MRI&H6D - Flmisb
61601 ) - &g
C. BHITE0T -2 (b
® (1pewed - FmisLD
LDL_ThI&6D - B9
61601, - eVl
d. HIT6HT - &MH
® (peweu - L6Vl
LDL_ThI&60 - BIJIQ
6T6U01(S) - Frisld
32. ‘@hHWT aSImId DSHLD
a. Hegfl zID b. ey @z
C. FmB6T BHILPND d. Hmser @z

33. ‘CaM_BAIT G ([HeveN  6eIaIBeSHBLILIBHIS)
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a. fRBHGL 19 b. yeda&L 19
C. BIQHGL 19 d. @rRgs@L g

34. seaBPlwmensT HlewTUIGIGTEN LITL 60 6160516001160
a. 100 b. 110 c. 120 d. 180

35. gilwmer emeull (pedmBenws Bty GFUlIsm:

a. GBlehd] -2, 8
(LPEVEMED - 4, 14
LD(HSHLD - 6, 16
OBUISHED - 10, 20
b. &ed - 10, 20
(LP6LEMGVL - 6, 16
LD(HSLD -4, 14
OBUISH60 -2, 8
C. &nlehd -2, 8
(LP6LEMGV - 6, 16
LO(HSHLD - 10, 20
OPBUIH6E0 - 4, 14
d oied -2, 8
(LP6LGMGVL - 10, 20
LD(HSLD -4, 14
OIBUISH6D - 6, 16
36. ‘LOEI(PDB HEWIL. UTFHID 616 HIT6VIen pFflui
a. GLIEHUIT b.wwenfleuns it
c. dauepmedr (Lpedileum ) aueitermeomit
37. 8.9, 2010-3 FH(HeuelTEmHeNFTewI(H o1eiml FnmIGeumib.
a. 2011 b. 2021 c. 2041 d. 2033

38. ‘Cymaiiord @ymioTenIegest” 6Teiim HITensv Gleuerlulll Leui
a. Qmmg b. &L 196veyL c. m.e1&. GpBaied d. «gmBasmi

39. B GTRTLSHET  SHLOGILp6UIT
a. s b & c. & d. o

40. ‘@Lmwoenll Haewih SHer opFfuiT
a. FHeursyt b. wewiLeoymLT  c. affomipeieu d. o Geuagm

41. ‘@lewtent] LOSHIOTRIGBET 6160 DIMLDSHBLILIBLIGNHG
a. LIDHBIGGIT b. alevmigsel C. LIBEn6UB6IT d. @yrdlser

42. ‘BoumpalsHal’ CIGIBeNLSSLILBMIS
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a. HmeuTFsLd

b. Gmeumyib
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43, ‘FFmEL ([HHeL 6IaemilD 6lFmeD
a. BGF QIS
C. LDRIGB6L QUGG

b. e L1y eupsE
d. @ape & @

44. gflwmer allewLedwsd CxHitey OCFuIs:

a.

45. ‘s sCpH M eauHer SHaNHIODE CFTELMEY. 61(LHHISH:
b. eumeiOb B euiteuil

FhIHTTH HBHLD
FHEVTLITFG0ILD
YOI
FHBITHSSLD
FHVTLITFGUILD
b5 S61CHTHLD
FhIHTTH HBHLD
FHEVTLITFG0ILD
b5 SHalGBTHLD
FhIHTTH HBHLD
FHEVTLITFG0ILD
=N T

a. SImIGBUIME 6016w
C. HeTOhBHMISHe6u0T6w

46. BpHBHIUTUT Gomenen LIUNeT@L U(HID 6T

a.2, 3, 4 b.1, 3, 4

- PHISGML
- LDGOOT (&ML
- QuUTBEGML

LD6wT b (&) 6mL
WPSSIHSML
CuTBGemL

- QuUTBEML

- LDGOOT (&ML
- PHBHGMDL
- PHBHGDL
- OuUTBGML

- L6 & EH6emL

d. .umsuis Hemiesnt

47. gflwner allewLemwsd Ggfley CFuis:

d.

LOGHIEM] SHTEILAD
Gal_ 60 SHT6RILID
&\ (THEUTELEUTU IS SHITEUITL LD
LDSHIEN]  SHTCUIL_LD
Gnl_60 &BITEOITL LD
SH(HEUTELUTUISSTEIL LD - 18 LIL6VLD
LDSHIEN]  SHTCUIL_LD
Gnl_60 &BITEOTL LD
SH(HEUTELITUISSTERIL D - 18 LIL 60D
LDSHIEND]  SHTCIL_LD
Gnl_60 BITEOTL LD
SH(HEUTELITUISSTERIL D - 18 LIL 60D

- 18 wuLevd
- 30 uLevDd
- 16 uLevDd
- 16 uLevDd
- 30 uLevDd

- 30 uLevLD
- 16 uLevD

- 29 ULevlD
- 16 uULevD

C. FH(HLOe»Mm

c.1, 2, 4

d. dmliumene

d.2, 4

48. ‘O memns WewL SHeil meterteust - @&Hle0 Lulleiiml aU(HD Siewfl

a. Hye0 [Hlenyulevof

b. @e0UTmeT 2_euaniouleni
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C. LIns\gIGmH&Hevenf d. GeuBmieniou et

‘s CaHTBmsHH MGaum euetliLler

AevmG T alBe_b Heombswy WelseEnD ....°0 GBHTLTMLWS SHms

a. LDGUTEmTUIGD b. Qumluiwed ¢ sefiaiuied d. oiemeiuied
‘© 0BG SO LTUTL B BuisbsD’ BHTIBES SHTTewILOTT6UT

a. LU&LT (1.6 b. ©1.5. @hTEIFIDLIHSH 6

C. LT&LT O&.0umis d. gmenev Benbdenyuies

® L 1bLBOIDUIT  6T6BTLIGIT
a. 6V, 6, b. L, ewr c. ul, e d o0, B

gflwrenr alewLemwd Caitey OFUIs:

a. Giehd - fpIGle
(LP6UEN60 - Gl
LO(HSLD - Guemi
LITen60 - GDIbL

b. e - Ga
(LPELEM6V - GuemiT
LDHSLD - SpiGe
LITemn60 - @I

C. &Mlehd - GuemT
(peOemeL - GDIDL
LO(HSHLD - Gl
LIT6060 - fABIGlg

d.  efeéd - epiby
pedeme - FABIGIQ
LO(HSHLD - Glernfr
LIT6M60 -Bal

‘OBevait OB6LEVT LIgdHd Leeflullesr G

a. amTlIFeTerd Lieier b. eLmlideTerd LeiTerf

C. Quirdasterd wLeiTer d. ev@BeuTerd LeiTer

SHSHHAUD, HHBHIHD, CHmewild, GHHD - Qeveu BbHFH aleomendsF &L (HLD
a. WImenent b. @&y c. o d. e

‘WG eIUiID @engF HUID GBHTEWI(H LTL60 SUIBM 6UEL6VGIT
a. umygwmi b. umupTsd Heuest
C. &HIHMHS UMIH d. unygsTFe

mHBH60 6J6hFGeom eTeTLIOT FMHSH
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a. &b b. um_ai c. fAm d. plgai
57. QLUISERILTET LSHDHBEF FTene0 @aU(HL T OIGHTLTLENL WG]
a. SIS b. #5episd  c. ale 4 d. sdsen
58. I SFH60 HewL GuBB HBLIGUTTed FHlebemeowlmy aueiTeluibenio
6B SHTCITIT
a. GxrasaierouTs b. aumevderdyerdL
C. YLmGuerdr d. engesr wuniTd
59. pleiip Fileir FBBeNFUD, u(HD FHT (LPHEVENFUILD eTeuTLILI(BLD
a. IHIMD b. §eui c. Gurener d. senen

60. ‘@ _1bugnT ug)’ 616l DIMLPSHSLILIBLIGUT
a. @haye b. sphFyest C. @fwent de pryesT

PART - III
ENGLISH

61. The aim of teaching poetry is
a. to help pupils to write poems
b. to help pupils to enjoy reading the peems
c. to help pupils only to learn poems by heart
d. to write the poems in their netebooks

62. The teacher of English uses ‘pair - work’” in the classroom to
a. improve pupils krniowledge
b. improve the teacher’s teaching
c. improve pupils cemmunication skills
d. improve the teacher’s English

63. Which is not a quality of “‘good handwriting’?
a. Legibility b. Distinctiveness
c. Spacing d. Absence of uniformity in the size of the letters

64. Reading a passage from the Supplementary Reader for enjoyment and expansion
of information is called
a. Silent Reading b. Intensive Reading
c. Extensive Reading d. Self Reading
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Identify the correct characteristic:
If a test measures what it intends to measure, then it is one of the characteristics
of a good test

a. Practicability b. Reliability

c. Scorability d. Validity

Remedial teaching involves

a. teaching and testing b. testing continuously

c. teaching, testing and reteaching d. teaching, difficult topics

Identify the correct Passive voice for the given sentence
People believe he has cheated the government

a. He has cheated the government is believed by people
b. He has cheated the government is believed

c. It is believed that he has cheated the government

d. It is believed that he has cheated the govermment

Identify the adjective form of the word“honour’
a. honourable b. honest
c. honesty d. henorarium

Arrange the following sentence jumbled"words in the right order to from a
meaningful sentence

That / remember / always'/ become / can / you / thinking / by / big / big
a. Remember always that by thinking you can become big

b. By thinking big you become big that can remember always

c. Always remember that you can become big by thinking big

d. Always become big by thinking big that you can remember

Identify the correct comparative form of the given sentence
Chennai is one of the largest cities in India

a. Chennai is large than most other cities in India

b. Chennai is larger than most other cities in India

c. Chennai is not larger than most other cities in India

d. Chennai is as large as most other cities in India

Identify the correct compound word that contains “Verb + Noun’
a. popcorn b. overthrow c. safeguard d. lifelong
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The figure of speech that attributes life to inanimate objects or abstract qualities
s

a. Metaphor b. Personification

c. smile d. alliteration

Choose the correct sentence pattern of the given sentence
Reading made him a complete man

a.5+V+0+C b.S+V +10 + DO
c.S+V+A d.S+V+0O
Identify the simple sentence for the given compound sentence

I broke my ankle in a football match and had to go to hospital

a. I had to go to hospital, because I broke my ankle in afootball match
b. I broke my ankle in a football match, so I had to go to hospital

c. I had to go to hospital, so I broke my ankle in a football match

d. Having broken my ankle in a football matgh\l had to go to hospital

Identify the correct ‘anagram’

a. meet — meat b. knéw - no

c. melon - lemon d.pun - fun
Identify the correct alphabetical order of the words in the box

Recession, receipt, recipient, recital, recapture

a. receipt, recital, recession, recapture, recipient
b. recipient, recessionsrecital, recapture, receipt
c. recital, recapture, recession, receipt

d. recapture, receipt, recession, recital

(Q. Nos. 77 to 80)

Read the passage with blanks numbered. For each numbered four options are
given after the passage. Identify the word to fill in each blank.

The young and the upwardly mobile generation of today has (77)
aspirations (78) little patience. If the youngsters want a smartphone or an
ipad, they usually don’t think much before spending (79) such gadgets.

Sometimes such spending involves taking a personal loan or using the
credit card and repaying (80) debt over the next few months or even a year
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77.a. low b. one c. high d. no
78.a. and b. but C. or d. of
79. a. of b. in c. at d. on
80. a. the b. an c.a d. some

81. How many sentences can be combined correctly without changing the meaning?
Raman has to complete his homework. He can’t go out
The correct combination of sentence is
a. If Raman has to complete his homework, he can’t go out
b. Raman has completed his homework until after he can’t go out
c. Until after Raman has completed his homework, he can’t'go out
d. Until Raman has completed his homework after, he'can’t go out

82. Identify the correct word to fill in the given blank
IfI rich, I would help thepoor
a.am b. were c.1is d. was

83. Identify the reported form of the given sentence
My friend said, “You must accept this gift”
a. my friend asked that I mustaccept that gift
b. My friend said that you must accept that gift
c. My friend requested,that ' must accept this gift
d. My friend insistedithat'l must accept that gift

84. A personal letter could contain
a. three paragraph only b. two paragraphs only
c. any number of paragraphs d. one paragraph only

85. Identify the sentence that is grammatically correct
a. He invited us to spend a few days with him
b. He invited us to stay a few days with him
c. He invited us a few days to stay with him
d. He invited us a few days to spend with him

86. Choose the correct a word to fill in the given blank
Either Nila or Mala present today
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a.is b. are C. were d. was

Identify the correct phonemic transcription for ‘germinate’

a. /’dzemlnlet / b./‘dze:mlInelt/

c. / ‘germlnelt / d. / ‘jermInelt /
The words ‘need’, “dare” and “use to” are

a. auxiliaries b. models

c. marginal modals d. modal auxiliaries

What does the following sentence mean?
Gandhiji loved to be up with the lark

a. Gandhiji woke up early in the morning

b. Gandhiji was punctual

c. Gandhiji went to bed early at night

d. Gandhiji did not wake up early in the morning

Choose the right question tag
We put some money in the blank last week ?
a.aren’t we b. don’t we ¢’ didnt we d. do we

iv.a. MATHS AND SCIENCE

The chemical messenger secreted by less number of cells in endocrine part of
pancreas is

a. Insulin b. Glucose c. Glucagon d. Glycogen

SIS Hler,  prembleveor  UGHUI,  GHeOMeUTe  cTewienlHenHUId 2 6lTeN
CFevmallell(hbg FTHSLILGL Geougdl srgieaufer GLulT

a. Beindeden b. ®enEBsmerd €. G 6EhbHBTE d. denenaCamreges
‘Mule’ is an example of

a. mechanical isolation b. gametic isolation

c. ecological isolation d. post-zygotic isolation

CamBoumpl H(WMSH (DLJLH) SPSHBMILBBIET THBE TBSHHIHSTLLTGLD?
a. CHSHTHSHIOTE  FHeTeNLOLILIHEHSHIH60

b. 815056 FHNMOLILIGSHSHIH60

C. GUWed HelenlolILi(hSHHISH6e0

d. smuwloL 2 HauTsssHBE L SHealleliLbesse

The BMI of a person with a height of 6 feet is 21.6. His body weight in kilogram
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a.”70 b. 90 c. 60 d. 100

6 9lg 2 WyeTen (h LelFHelel o L BuUmLES GBIUIG (esnel) 21.6 6eiled, Sieufler
aTemLemul &HBeomadlymidled HewT(BLIIG

a.70 b. 90 c. 60 d. 100

The invention of Dr. Ananda Mohan Chakraborty is associated with

a. Bio-magnification b. Bio-remediation

c. Bio-sonar d. Bio-control

Dr. syebg Gomset FoHyuTshHuler semiBLiigl] @&GaImE OBHTLTLemL Uig)
a. 2 ulimo OLIHGBHIDEML &H6D b. o _ulmp wmFyTeHED

c. o uio el d. 2 uimo &L GUUT@H

During mitotic phase of meiosis, the number of cells formed from each daughter
cell is

a. 2 b. 4 c.3 d. 6
Owrdlerd  QFed  LIfigedlent  enol LTdlerd  Hlewevuledy qeuGeurm Gsul  OFeL6Vlel(HbHS
o (HUTHGID OF60DH6MN60T 6T6u0T6m01 5 M SH

a.2 b. 4 c.3 d.6

Identify the correct form of food chain:
a. Grass — insects <> frog <> shake
b. Insects — frog — snake — eagle
c. Grass — snake — rat

d. Plants — rat — owl
gflwmer o ewie] gmdelmul GBILLIGs:

oL — UFFBET >, HeUen6T <> LMD
UFFBH6T — FHeuewen —> LIMDL —> LI(HHS
LJeO —> LMDy, —> 6160

SHTOUTBIGHET — 6160 — DYHMS

an o

The parts of plant best suited for maintaining heterosis through generations are
a. flowers, fruits, roots b. roots, leaves, stems

c. stems, fruits, roots d. roots, stems, flowers

STUTHHA 6bdH LGHWler cpeold WSFHABHS (Wwempulled GCamL rmdlerd Hmev(LenB
HMEV(LMBUWITS Hlenev HMISHHUILIGSBSHI?

a. LDGUT&GIT, LIPHIGET, GeuTdmel b. Gautwell, Bemevdeil, Hewi(h

C. HWI{B, LIPEIG6T, BauTbel d. GeouTsmelt, HeWi[H, LOGVTHGI
BOD is not the result of

a. death of terrestrial animals b. algal bloom
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c. increase in organic matter in water bodies d. eutrophication
BOD eigniid Blaba 6t OHTL T BB

BleVSHHeL 2 6ol allevmIGHH6T MU

DEVBTHOMEGT DILTHSH DML (DLEOBTHSH6IT LIeTHLD)

BT HeMevH6N60 HMPFFHHI DI HMHH6e0

BT Blevevasefled ybdlegen Gmmsev (eutrophication)

@ o

99. Chemical alarm signals released by an injured tissue are
a. Thymulins b. Ampicillins
c. Prostaglandins d. Norepinephrines
sTUUL L FHasdsailelphba OCeuelCGumpib Gougl assfodme GuT(mel
a. 3 (Lpedlent b. &b dedest
C. LGymerOL mealemmesTi 65t d. mrrenOmLiesr

100. Plants grow like bushes, when gardeners cut the shoot tips. This is due to
a. removal of gibberellins present both in apical and lateral root tips
b. removal of auxins present in apical bud§
c. removal of cytokinins present in apicalshoots
d. removal of auxins present in lateral buds

SHTUTHFH60N96T BHIDIILIGH MW BHHGSWOLTIDSH DISHHTEUILD SHlenedhdl 66N (HI 6B
SDISHMBBIT6T  SHITJ60TLD

a. Geufler mellu@Gs wBpd weEsCauflear  mHeIuled o 6iten  2LIFeVleTH6T
bHBLILHSH6L

b. miel GOT 1960 2 6iTen Oy HeNSIB6T [5bHLILIBISHT6D

C. HewNgel HINUled engl GCLTensele HEHBLILIBHISHTED

d. uss G Hoefed 2 66 O HEIBIHET [5BHLILIBIHTCO

101. The number of moles of solute per kg of solvent is called
a. Molariy b. Normality c. Mole fraction d. Molality
R SHCeunHImbd HenJLILTeNe0 HenJhaleTen HmFoLT(hefer GoTevsm6T60  6l6mTeunNdheMdH
a. GumeomLig b. mrmomediig c. Gmed LlevTedrDd d. Gomeomediig

102. Which among the following has the lowest first ionization energy?
a. Mg b.O c.F d. Na
BemeuB6Ted LBHGHMBbHS (PHEVTD HUWIWLTSHGSGHLD DBBenev OLBBIeTeNn Heio 61517
a. Mg b.O c.F d. Na

103. An alloy used in manufacturing Aircraft parts is
a. Solder b. Brass c. Duralumin d. Bronze
alremisaiar @ SifuTemnser Hwmfeds LweLBh 2 Gsors Heveneu 61g5i?
a. FmeoOLT b. vgmHmen C. 1QULTTSIGVILO6OT d. Geuewiseold
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104. According to Fajan’s rule polarization is high with
a. Small cation and small anion ~ b. small cation and large anion
c. large cation and large anion d. large cation and small anion

S Buggreflenr  allgllg  WeTeu(HeuaeuBmled  61H DIHB  (PMTOBISHHID  FHBenedt
CUBBI(HESGLD?

e. dplw CrT Swell wBpID FABw 6IHIT w6l

f. dAPw GpT Swel wBpId QUi AT e

g. Quflw GpT wBpd CQuilw et e

h. Guflw GpT wBpId FPw et e

105. The IUPAC name of CH,-CH,-CH,-C(CH,),-OH is
a. 1, 1 dimethyl-1-butanol b. dimethyl butyl alcohol
c. 2-methyl-2-pentanol d. 2-hydroxy-2-metyl pentane

CH,-CH,-CH,-C(CH,),—OH &&iB cpeoddmper I[UPAC, Guwir
a. 1, 1 eoLGgHeo-1-ul Lemmed b. LG HHe0. LUl w6 SLe0HAMBT6D

C. 2-Qod&60-2-CILIGHTL 6vT6e0 d. 2-emami grsd-2:0sHHe0 CLeTEL 66t
106. A light year is the unit of
a. acceleration b. distance caspeed d. time
6l SLewI(B 6IILEHI THET DIVE)
a. (W{BH&HHID b. OsTenevey c. Gousld d. &mevid
107. The heart is pumping blood at x kg per unit time wit constant velocity. The
force needed is
a. xv b, X c. Y& d. zero
dt dt

BTy HwFbaldshHen, WD @ oG CBIsHHed, X &H.&. QAIHHHMS
CeuefGuBmIABaI s1ellen, CHemeulILIBD alend

a. xv b. xdv C. vdx d. s
dt dt
108. Which of the following bodies have the largest kinetic energy?
a. Mass 4 m and speed v b. Mass 3 m and speed 2v
c. Mass 2 m and speed 3v d. Mass m and speed 4v

Weteud QUTHL Heifled a1HeT BUISHES DMBL HIFHHID?
a. 4 m pewpwb, v Geuspld O&mewIL  GUT(HeI
b. 3 m Beopuyd, 2 v Geuspld OHTERIL  GLITHET
c. 2 m peopuyb, 3 v Gouspld OHmewiL GLITHEIT
d. m dewpub, 4 v Geus(pd Obmewi GLITH6IT
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109. Pressure at a point inside the liquid does not depend upon
a. the depth of the point below the surface of the liquid
b. the nature of the liquid
c. the acceleration due to gravity at that point
d. the shape of the container
FreudbHaiel @b LeTaiulled SRS LleeuheuareuBBeT &Hmand STibaTmg?

a. oyeTaluwledl(pbad SHFeushalen LoD b. FHyeusbdlen Hestenio
c. onigereiuied yelufming (pBSHHD d. seveler augeuld
110. Find the odd one out:
a. Silver b. Cotton c. Salt water d. Human body
CUTBBSTHMBDDBS CHHESEH:
a. Geveierl b. umsHs C. 2 (LHBHMmIF60 d. weils 2 L6

¢ (67.542)* —(32.458)* is
75.458—40.374
a. 1 b. 10 c. 100 d.1000
2 2
(67.542)° —(32.458)° . il
75.458—40.374

111. The value o

a. 1 b. 10 c. 100 d. 1000
112. (13)3 +(72)3 =20 then x is
A3)"+(7)" —x
a.6 b. 20 c. 91 d. 31
13’ +(@° _ A N :
)2 20 61660, X-681 LD
a.6 b:20 c.91 d. 31
113. The product of two numbers is 45 and the sum of their squares is 106. The
numbers are
a.3and 5 b.5and 9 c.5and 19 d.45and 1

Breni(® elewiseMen OLIHGHSMLIGVET 45 WBMID Dieneuseailelr auTHImIG6MeT FBHe0 106.
Db 61601 H6N
a. 3 BmId 5 b. 5 wBmb 9 ¢ 5 wBpww 19 d. 45 wBpD 1

114. If x=5+26, then =l is
X

a. V2 b. 242 c. 3 d. 243
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x=5+246, etafled L &1 ey
X
a. V2 b. 242 c. 3 d. 243

Question Wrong; correct question is

If x=5+2v6, then XT_l is
X

Ans: 2\2
Explanation:

x—1=4+2J6 =2(2++/6)=232 (2 ++/3)
x=5+24/6,

x=3+2+216

= (V3) +(/2) + 2432

=(3++2)’

(x=D _2V2(2+V3)

T B =22

115. A scored 30% marks and failed by 15 marks. B scored 40% marks and
obtained 35 marks more than that requited.topass. The pass percentage is
a.45% b. 40% ce35% d. 33%
A aeueut  30%  wHUCQUemIHeT, OuUBm 15 WHIOUHIHET  (GHemmalerTed
Camevalwmmrt. B  eemieut 40% wHuGlemisst GuBm SeuTser GxTFd  Gum

Gouemrigu! LG IGILIGHTENeTIAIL. 35 WHIIOILIEHIHET HHHLOTE CUBMITT. 6TeNed DieuTaH61T60
CxiT&gd alpshan(y

a.45% b. 40% c. 35% d. 33%

116. The unit’s digit.in (264)'” +(264)'*is
a.0 b:2 c. 4 d.6
(264)'” +(264)'” DT QEBTOUSH B60HSH 616N
a.0 b. 2 c. 4 d.6

117. Two-third of a consignment was sold at a profit of 5% and the remaining at
a loss of 2%. If the total profit was Rs.400, then the value of the consignment was
a. Rs.10,000 b. Rs.12,000 c. Rs.15,000 d. Rs.20,000

% umlg gmoteiser 5%  @eomusFHeid, 188 2% BLLSHID  eBSILIGS BT

QreHs Beomud h.400 eiefled, OLOTSHSH FMIOTeIH6 6 DG
a. ¢p.10,000 b. ¢5.12,000 C. 5.15,000 d ¢m5.20,000
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118. The ratio of three numbers is 3 : 4 : 5 and the sum of their squares is 1250.
The sum of the three numbers is
a. 30 b. 50 c. 60 d. 90

(POIBI 6T6WIHB6T 3 @ 4 : 5 B alSHHBHED 2 66Nl DIEN6US6ITET  6UTEBRISH6N 60T
FBH6L 1250 eeafled, Db LIl 6IwTH6M6ET Fn(HFH60

a. 30 b. 50 c. 60 d. 90
119. In how many years will a sum of money treble itself at 5% CI payable
annually?
a. 22 b. 222 c.23 d. 232
2 2

PH OIF0 5% &G el aFHHH0 @ILUULLTE, DiFH  6T6IaI6Te]  BTEVHIH60
CLPEOTM|  LOL_MRIST(GHLD?

1 1

a.22 b. 22— c.23 d. 23—
2 2
120. The perimeter of a circle is equal to the perimeter of a square. Then, their
areas are in the ratio
a.4:1 b.11:7 c.14: 1 d.22:7
R QUL SIS SMMENe], (b FHTHHleN S&MmeIalBEG Wb 6elled OIH6T LTl SHere
A& HLd
a.4:1 b.11:7 c.14 :11 d.22:7
121. In peripheral nervous system, the majority nerves are of type.
a. motor b. sensory c. mixed d. afferent
Um BIbLUS CO&HT@Lled, GugpbLmeTeT BIWLS6T DbHH UMSMWEF FTThHDI
a. QWHEG, b. oL cwnir C. &6ULIL d. o I GFevaid
122. A man in the habit of consuming antibiotics indiscriminately is likely to
suffer from the deficiency of
a. Vitamin E and D b. Vitamin K
c. Carbohydrates d. Fats

BHWICPIY HHEWIOTS  IHIT 2 _ulflenwl THSHHISOBTETEHLD LIPSHESL06TeN @(h  LOHmISS,
oh® emeUL L L0 (GHMBUTLIQenTe0 LTI emLBLD?

a. enaul Liflesr E wommid D b. enau’ Lidlesr K
c. srBurenamL Gyl (Habeir d. Qasmapriy
123. Identify the right path of blood flow among the chambers of human heart,
when blood comes from various parts of the body.
I. Left auricle II. Right auricle
III. Right ventricle IV. Left ventricle.
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Of these:
a.L I, III, IV b.L I, 11, IV c. I IV, 111, 1 d.IL III, I, IV

o Ledel(pbad OupliuBl @IHHHIET BHU  DOBHEHSGHF OFeosud  Fifluimer
LUTenSHemW  SHewrLMl:

I. @La afiader II. auevg oyflsdel
1. eueog Geuewi Maasi IV. BLs Qovewi Mdbsi
a. L 1L 111, IV b. L IIL, II, IV c. IL IV, 111, 1 d. I, IIL, I, Iv
124. Curriculum is a tool in the hands of the artist to mould his material
according to his ideal in his studio. “ This is the definition of
a. Kearney and Cook b. Alexander and Seylor
c. K.G. Sayidan d. Cunningham

‘BMVSHFHILLD  GIABILGH  QR(H HMeLEHT  mBUTL o 6ol @(h  H(HAIL  GuUTEIB,

MG MDD SleUET  HMRIHBHMSH HAIHBHLILIG QUYADISHS  (PIUd.”  BbHS
GUEMTLINBENW!  6U(GHSHSHEUIT

a. Gaflesr BEWID & b. 9i0edFTemi T BB GlEuieoT
c. KG. ewagLein d. seeimeaBd
125. A good example for projected teaching aid is
a. Realia b. Posters c. O d. Peg board
ULSST F aBme0 SBLISHH S(HadHEG IBHDHIHHTL (h
a. Peulurmer b. FeuGpmiig
C. 3B LIL6flpgd) d. &FHard Lvms
126. Which is not a feature of “Cell Doctrine’?

a. All organisms:are made up of cells

b. New cells are formed from old cells

c. All the célis\are’basically of the same shape and size

d. Hereditary information is passed from cell to cell, during cell division.
o1&l OF6e0BHTL LT 196 HIDFID BI6L6V?
SIMHGH 2 UNTHEHD OFe0H6NT60 LETN6
gmHeBeu o sitenn OFeLHeMed(hHbaHI LSHWw CFe0deT BCamesimidleiment
SIMTHGH OF0HEHID SlglILIMLUTeD DIHLOLILTEVD, DieTaleVID HIHemal
Ogeou@Uler  OuTwa @B Fa0eledmbas  BEBTMH  CFeLeIlE WYL
LIGRTLSH6T S SHSLILIBHS6IImeoT.

an oe

127. On the label of a soft drink bottle, it is written that the liquid content is
‘isotonic’. It means
a. the concentration of the liquid content is equal to that of fluids in our
cells
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b. the liquid enters into our cells
c. theliquid does harm to our cells
d. the liquid absorbs water from our cells
Gefitumer  um igeder @UBFFped (Label) ‘x@anBLrefs’ eer  @mldbsliuL BeTengi.
B g6t Oummel
a. GelutersdHer oy  SILTHHUJD, BOH 2 Ledled o aiten  OFe0H6 60
SHIUSHA QULIL THHUID FLoBleneouled 2 6ol
GoMiTuTe FHyeud HLG 6Fe0H6M60 2 L' LG
GoMiTuTe FHyeud © L Vi@ 20w alenenalldh@Ld
GoMiTuTer FHyeud B 2 L edlaieiien 6Fe0s6Me0 HeushdHenet © lehdild

an o

128. Determination of age of a tree by counting the annual ring is

a. Gerontology b. Phytogeronotology

c. Dendrochronology d. Pathology

QI LIHSHET UMD DHHT  DUEWIH  CUMGTWIHIGBETGT . 6T60I601HMBMUI  MEUSHSHI
SH6WTL_NSleug|

a. Oyei_meves b. . .eoul GLTOre6 eved
c. Qe GymaGrmermevgs d. Gussmensy)
129. A student of class XI has observed the venation, phyllotaxy and

130.

131.

inflorescence in plants at microleyel ‘and enjoyed a lot with the beauty and
diversity in them. The value developed.n the student is

a. moral b. aesthetic cacultural d. creative

XI b eu@liy LoTewiauet, STQIFHSHEOT HIIDLMER|, EeneLUIMLIDR], LOBBID  LDEha U6t
AUMBHNT  DpSHlenenn, GCoumm el Sl BHSHHET  alenere], SieUaDIEnL Ul
erdHled GCHmeirmluigi

a. pg Gurmemen b. yeemen
C. [BBLIGwIL] d. aus&HSme
On classifying the tools and techniques of evaluation, a good self-reporting

technique is

a. interview b. observation c. aptitude test d. check list
ST HIT 9BETer FBhH SmHal WwBEBID (s
a. GpiTsmented b. o BBGHTEHHM
C. FHmeorsHe0 d. sflummig uliguied
Which of the following is optically active?
a. Succinic acid b. Lactic acid
c. Propionic acid d. Chloroacetic acid
LevTeu(hHeueToUBmaeT c6ll SHIOBMID Heitenlo CLIBBEHI 6157
a. g&felds odevd b. eurékps Sdevid
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c. yGrmiiGumefs oufeod  d. &CemGym P I19H Siblevld

132. Homolytic fission of C - C bond leads to
a. free radicals b. carbocation
c. carbanions d. hydrocarbons
C-C denewitiontl &Irs 116MSHHe0m60 2 (HauTalg) 6157
a. el 2 w6l b. &rituer GrT et
C. SMTU6T eTgITule d. ewami Cyraniueiser
133. In an adiabatic process

a. the system exchanges heat with surroundings
b. pressure is maintained constant
c. there is perfect heat insulation

d. volume is maintained constant
Q@ Geuliuommrs OFuweOLPeMBUTED

a. gewIIBEGL SBBIILUBSSBGWmL G GCeutufiorBmd BHlepn
b. ©IpHsD WOIBTHHESID
C. Geulid &L HHULGMSH60eN6V
d. sereene] IBTHHHEGLWD
134. Quantity of electricity transported in one second by a current of one
ampere is
a. volt b. energy c. coulomb d. mhos

m owT GG L. @@ aleimy GCBrHHled OFaishsliup Gurg  gBuBLD
G L SHFH T D66y
a. Geumevl b. eymBmed C. Gn@ID d. Guom

135. The pH of0.01 N'HCl is nearly equal to
a.0.01 b. 10 c. 1.0 d. 2.0
0.01 N HCI et pH wdli
a.0.01 b. 10 c.1.0 d.2.0

136. All magnetic materials lose their magnetic properties when
a. dipped in water b. dipped in oil
c. brought near a piece of iron d. strongly heated
SMhHL OUITBL &6, STHSL Lewienl! 6ILGLTIRS SpeESHLD?
e. Hewienifled s emeudbG CuTSH
f. eewiGewiuied cwppsd Mmeub@GHD GuITS)
g. Byl Gummeier oHHled Osmamih GClFeded GCumg
h. gfswrs CauniuGsaid Gurgl
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137. A frequency of a source is 10 kHz. The frequency of sound wave produced

138.

139.

140.

141.

by it in water and in gas will be

a. 10 kHz b. <10 kHz c.>10 kHz d. depending on velocity

a0 @60 cpovdHar FHTOeuewt 10 kHz. msflgobd, eumujelaid o1& 2 Haums@d @60
Slemeoulleir &1 TGleu6wT

a.10kHz b.<10kHz c.>10kHz d. HewsCaussbmaF FihEI DTHBID

A ray is incident at an angle 52° on a mirror. The angle between normal
and reflected ray is

a. 90° b. 52° c. 38° d. 76°

uGaHT @ dewiewimguie 1Bz 52°  GCatawiggHed  allipamal.  e1GrTeiliLsh
HH(HBG, CFHIGHHHGHWD SevL L’ L GHmemnild

a. 90° b. 52° c. 38° d. 76°

Metal pipes used to carry water sometimes burst in the winter because
a. metal contracts more than water
b. water expands when it freezgs
c. outside of the pipe expands more than inside
d. inside of the pipe contracts'more than outside
BT utd o Geundsd GWTul GeliTeTeosHHle0, Fev Fowib GeUQLILISHET SHTT6uwILD
a. pewy el o Geumsld F(HHIG6UDHTED
b. BT 2 mpun Gurs alfleueL aiHred
c. Oeuefiys o Geurmall G, 2 L LUsl uGHow ol iFHswns alfleuam aughmed
d. o lys o Gerall LG, Geueliiup UGHow el HHBLOTE S(HBIGEISTEV

If a body is charged by rubbing it, its weight
a. may slightly.increase or slightly decrease
b. increases slightly
c. decreases slightly
d. remains constant
R Cummenmeig CaHUIILSET cpeold LG L LILGHBEH. DISH6IT 6TenL
Flseney 9FH&NEHCour Dlevevd FHene| GHewpwGeour GFUIuD
Fisene oiFsflbeLh
FBIB6T6] GSMBULD
LOTBT

an oe

A man invests a certain sum of money at 6% p.a. S.I. and another sum at
7% p.a. S.I. His income from interest after 2 years was Rs.354. One-fourth of the
first sum is equal to one-fifth of the second sum. The total sum invested was
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a. Rs.2,700 b. Rs.2,800 c. Rs.2,900 d. Rs.3,000

QBT @B GPUI LS CFHTewamul emihed 6% Holally aihsHdeid, BT
OFpTEmW  heGH 7% Slaly eiHsHeid (WwHeSH OCFudsrt.  Byewi(h
AW BHEHSHGL  LIBG, DUHHEG ULy (LPeOTS (H.354 eU(HLTID SO HHBG.

(PH6EV (IpSHeVL 1960 Y4 1DLMIG, BJeniLmeudl (LPFHevL 196D éLDI_Fﬁlaﬁg'}@ FI0D, 6160T60 DIeUT
WHedh CFu1sH CTHH CHTmSH

a. 5.2,700 b. e5.2,800 C. ¢5.2,900 d. 3,000

142. A sum of money placed at C.I. doubles itself in 5 years. It will amount to
eight times itself at the same rate of interest in years
a.b b. 10 c. 15 d. 20

@ OaTemsemw Fal(h euliguiled (WHellh OCFUISHT 5 SLemIBHHaTNe0 E)(h LOLRISTSHBS.
DIF 1HHmE LeIBHeNe, DIBH ey aiHHH6L 61 (h LPLEBISTEGLD?

a.b b. 10 c. 15 d. 20

143. The percentage increase in the area of a rectangle, if each of its sides is
increased by 20% is
a.40% b.42% c. 44% d. 46%

R OCFaassHar  udbsnider 20%  @HBASSIULTD, DIHST UL 61HHM6
al(pSHHTH DI BIMeEGHLD?
a.40% b. 42% C.44% d. 46%

144. A sum of Rs.312 was divided among 100 boys and girls in such a way that
each boy gets Rs.3.60 and each'girl gets Rs.2.40. The number of girls is

a. 35 b. 40 c. 60 d. 65

.312 &g 100 rewiel,  oTewialHeflen G @(h WTemieuISG (@5.3.601D b LoTewIalshE,
(h.2.401D SlewL &@LU URIFSIL LILGSHIBSI. 61660  LoTemnTalBeiei  616m016m015HenS

a. 35 b=40 c. 60 d. 65
145 Pt b 1 1 _isequalto
" -8 BT Ni-6 Vo5 54 1
a.0 b. c.1 d.5
N S N BN B
B BT e Jo5 VA
a.0 b.% c.1 d.5
Explanation:
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1 G’ 1 BV 1 (THe) 1 (645 1 (54
WO-V8) 9+8) (B—T) (B+VT) (T-V6) (T+6) (6-5) (6+5) (5-4) (5+4)

- (*/§+*/§)_(\/§+\/7)+(\/7+\/5)_(«/5+«/§)+(\/§+\/Z)

(9-9) 8=7) (7-6) (6-5) (5-4)

= (9 +V8) = (VB+VT)+ (7 +46) - (6 +/5)+ (5 +/4) = (o +V/4) =3+2=5

146. If the perimeter of an isosceles right triangle is (6+3v2) m, then the area of
the triangle is
a.4.5m? b. 5.4m? c. 9m?2 d. 81 m?
Qm BOm souss CFmGstan (PsCETaNSH6T SbBeTe (6+3v2) IS. awlsd e
LITLILIGN G
a. 4.5 12 b. 54 82 c. 9 uf? d. 81, 152

147. The greatest number that will divide 43, 91 and 183 so as to leave the same
remainder in each case is
a.4 b.7 c.9 d.13

43, 91 1oBmID 6T 183 elewidemen UGHHGLOLTSHI HlewLSHGW BFH FLOWTE S (HLILT60
BmaIBme GHDHGHS dnlgul OBLIGLITW  6T6woT

a.4 b.7 c.9 du13
148. If a+b+c=13,a>+b*>+c* =69, then ab+ bc + ca is
a.-50 b. 50 c. 69 d.75
a+b+c=13,a*+b*+c* =69 etedflev “ab + bc + ca
a.-50 b. 50 c. 69 d. 75
149. 4 +49 +4% 1+ 4%s divisible by
a.9 ba10 c. 11 d.12
400 1 462 4 463 4 464 ) aj@éaasa'aafnlgu_l 6TGUOT
a.9 b. 10 c. 11 d.12

Explanation: 4 +4%+4% +4% =4%(1+4+4% +4°)=4°"x85=4"%340, which is clearly
divisible by 10.

150. If x is positive and different from 1, then L s
a. 1 b.2 c.>2 d. <2 x
X 9 008 aeiasan, o@EMBE Gouur G SEIIET x+- & i
a. 1 b.2 c.>2 d.<2 x
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SOCIAL SCIENCE
PART - IV
SECTION - B

The floating micro-organisms are normally known as

a. Benthos b. Coral reefs

c. Plankton d. Nekton

&L6L GHSHHamgul 105 Hlewieniwl o uliflermisenern 616315 GLD.
a. QubsTerd b. e s e c. LemmmiL 6ot d. GméLmes

The city developed with temple as its centre is

a. Chennai b. Thanjavur

c. Vellore d. Madurai

Gamuilemev ewwWIOTS CBTewIh eUETTFFUIDLHFH HBJLD

a. OFaienen b. sehaTeyT c. Geugyrit d. ‘wgieny

The most important need for every industry-is

a. fuel b. transport c. capital d. labour
Cambevasmisemen Buib@Gd 2 ulfibry el Iu{bHeIg)

a. eMgsd) b. Curs@ardha ¢ cLPeLHEID d. uewilwim sl

Which type of structure describes Weber theory of industrial location?

a. circle b. square c. triangle d. rectangle

Ceauuflelr OmPevs iemwall . CHT LTH 6hHSH DIWIOLIHL DIQUILIHL WITHDS 6C\BTemwT(H
allendbalILL (BeiTernd)?

a. e LIb b. Fgirid c. (p&Baxsmawid  d. GFeileusid

The trade occurs within the limits of a country is called

a. internal trade b. rural trade
c. international trade d. local trade
Q(H BT IQET 61606M6VEHE6NT [HIBLDSIGIM 611601 BHLD

a. o 6NMpBTL.(H 6uUewiHLD b. eays eauemisid
C. LGN (B euenflsLd d. s euewfllsid

The pioneer to form Indian National flag was

a. Gandhiji b. Jawaharlal Nehru

c. Thillaiaadi Valliammai d. Dr. Muthulakshmi Reddy
OphHw Cxhdlws Camyamwl o (HUTHGaSBEG (WAICaITQUITES HBLDHSHeUT
a. BMHBHUNGHET b. maiamiteored GpHH

C. Flebameuwlmy eueiTeluIDenLD d. Dr. w&s1060 &l Qi ig
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97. The great social reformer from Kerala is

a. Sree Narayana Guru b. Vivekananda

c. Dayanand Saraswati d. Ramalinga Adigal
Carensgled UsROLBB &ips FHHHSaTH

a. JBIJTwIenT @ b. «lGausmenhsiT

C. BHUMATHS FJeroaid) d. @ymoedimis 9B

98. Lotus symbolizes
a. smell b. beauty c. unity d. colour
SO 6160H 2 (HeUSLILIBHHHISBSHI?
a. LoGNTHMD b. supmas C. @PMBEWIGNLD d. PBsHms

99. A permanent standing army was organized by
a. Nasiruddin Khusrao Sha b. Jalaluddin Khilji
c. Jalaluddin Firoz Khilji d.,Alauddin Khilji
BIHSTIOTST @(hH OLIHD LDLenUl 2 (HeUTHSIUIGIT
a. HeIT-2_ 536G 6er0(HAT b. meureugen leved
C. 26UTEIFSET-GILIGTTErD &leved d. ®eoTadar Hevgd

100. A 1500 year old unrusted iron pillarisilocated in
a. Mehrauli b. Assam c.Kalinga d. Nepal
1500 SLemwiBHeMTUI HIHLLTQSHSTION BHHGD BHILSHTEw 2 6o G LD
a. GQwasrel b. sjervervmd C. SH6VIMmIBLD d. Gpumemd

101.Ellora was occupied by (during A. D. 742)

a. Dhruva b. Badami

c. Dantidurga d. Kirtivarman - II

eTe0GeuTgTeneUdh enSLLIBMIWIeT (&.L1. 74260)

a. FHI(HeUes b. ugmo C. HHHHITHT d. @yewiLmb &THaeuTioes
102. The greatest Telugu poet was

a. Kalidasa b. Ramabhadra

c. Bhaskara d. Alurikuppanna

Fvhsy 0SNG SHalehITs allenmigsluieu

a. FreM e b. gmougdyit C. LTSI d. siepisgliue

103. The empire developed into an independent kingdom under Alivardi Khan was
a. Karnataka b. Bengal

c. Hyderabad d. Pondicherry
ST H BT FHHHTU CUITsTa o (HeuThslwig
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a. &SMBIL&LD b. eumismemd c. wamsyTursd  d. umewtg FGa

104. The religion which reached the zenith after the 6t Century is

a. Jainism b. Buddhism c. Hinduism d. Sikhism
&.(1p. 691D BHIBBIENNYSHGL L6 0FevauTdhE GUBM LSLD
a. Fewl LDHLD b. uss WD
C. Gougp emeuzlsd euHEMITSITID OFHLD d. Fedw s
105. Ashoka’s messages inscribed on the rocks are written in
a. Kharoshthi b. Prakrit c. Greek d. Sanskrit
SI8gnaT 9mleyeny CUTBlSSILL L Gu(pHbUTeTeT H606aIL (HHeled 1S L GLomL
a. s@ymervg) b. Wgradmsib c. &Cydbamid d. Fweddmsib
106. ASEAN was established in
a. 1947 b. 1957 c. 1967 d. 1977
OHeIBIpSHTFW gl Lenwli] CaHmmmielssiiul L ewnib
a. 1947 b. 1957 c. 1967 d. 1977

107. The world communication revolutions considered as the

a. first wave b. second wave

c. third wave drfourth wave

CaTLTY Yl dwneigd 2 e0sled Hsbhed UJlidsellsd @eieummrs SiempssliLbaSng?
a. (IpFH6L N6V b. ‘@yewi_mb’ Siemev

C. CLPGIBTD SIEN6V d.wBreiETDd Siemev

108. The world’s first satelliteswas launched in

a. 1947 b. 1937 c. 1957 d. 1967
® &I (PpHev OCFUIBens Bzl 6O UL L Sl
a. 1947 bx1937 c. 1957 d. 1967
109. The source of energy to the world is
a. sun b. land c. water d. wind
® GUEHIN HLBMEL 66D
a. @flwer b. Bleud C. [ d. smm
110. Air Survey Company located in
a. Delhi b. Kolkata c. Chennai d. Hyderabad
QUTEITUIGY| FHIGLD DIENLOHHIET6N LIGHS
a. GLebev b. GameassT €. QFaiened d. emamsyTUTs

111. The scholars adorned the court of Krishnadevaraya were
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a. Ashtadiggajas b. Navaratnas

c. Paramarthas d. Alwars
smagent CheaugmwiT iemeuuled HbHSH DINSlEhTH6N

a. SIOIL FHHHWMIB6I b. meuysdHemisei
C. LIJIDTTSHSHTHET d. supauniser

112. The sailor who came up to the southern most tip of Africa was

a. Vasco da Gama b. Henry the Navigator

c. Columbus d. Bartholomeu Diaz
WHETI(PSHeVIe0 SlifldsTaled CHICHMTY (LpenasTenul 6UbHGHML [HSH6T?
a. GUTerVGSTL SHLOTSIT b. wreill Ganei

C. QBmeuIDLIGID d. unirgaGeomOGuIm uwierd

113. The Kailasanatha temple built by Krishna I was at

a. Ajanta b. Bombay c. Gujarat d. Ellora

(PSHEOTLD F(HarRewiel mHeLTF BTHT CaTuleney Hlily @)L LD

a. QIMbBSHT b. wbumu’ C. GBMYTH d: er60@eumyT
114.The “Zabti” system was introduced by,

a. Akbar b. Sher Shah c. Aurangzeb d. Vasir

‘B popmw SSILGSS LI

a. OIGBLIT b. Geagitagr C.. QEMIBIBSL d. eud

115. The sites of old stone age in India are

a. Sivaleri b. Attirampakkam c. Humpi d. Vaisali

LDl SMHTEV LSS SbITaled auTDhs S MS6Te0 e6aiml

a. FeuBevrfl b. ®i58bLTSSD c. amubLi d. eweusmel
116. The last GovernorGeneral and the first Viceroy of India was

a. Lord Ripon b. Lord Canning

c. Lord Curzon d. Lord Lytton

OphHwneler HenL g SLEHBT LOBBID (LPFH60 MeUFIFTUl

a. Miuesr gy b. sreimiiyy C. &itger Ly d. O Lem Tyy
117.Bharatanatyam came to be developed during the period of

a. Cholas b. Cheras c. Pandiyas d. Pallavas

UFSHTL g CHTeaIlul Sm6evLD

a. Gampf b. Gayir C. ULITGUoTIQUIT d. uebeveur

118. The mother of Vardhamana was
a. Yashoda b. Yashodhara c. Meera d. Trisala
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QTS HLomeonfledt GHTuImT
w. w@snsm 9. WsTgmHmy o . 15ymw ol FHiflgemev

119. The diamond throne was given of Lord Ranganatha at Sri Rangam by

a. Achutappa Nayak b. Vijaya Kumara Nayak
c. Thimmappa Nayak d. Sevappa Nayak
fIRIS JTRISHTSH SFUTOSHE MeUTFIDIOTEFID 6ULDRISIUIGUT
W. DIFSHSLL [BTUISST 19. QIQUIGLOTT HTWSHSHT
® . SHDDUI BTUISST or. GzeuliL BTUISHST

120. Virapandiya Kattabomman became a poligar in

a. 1761 A.D. b. 1790 A.D. c. 1795 A.D. d. 1767 A.D.

aiyuTenTigUl &L L QUITIDIDGST LIT6n6TUISSTTT L6  S601(H

a. &.. 1761 b. &.d. 1790 c. &l 1795 d. .. 1767
121. The Constitution of India came into force on

a.26th January, 1950 b. 15t August, 1947

c. 26t January, 1947 d. 15"August, 1945

OhFHW DTFUIGOMIOLIL] HEDL (LPMBESG 6UbHSH ool

a. 26 e, 1950 b. 15 &y®edB, 1947

C. 26 seeufl, 1947 d. .15, aiserv®, 1945

122. The term of the Legislative Assembly of Jammu and Kashmir is

a. 6 years b. 5 years c./ years d. 4 years
D LOBBILD HTOJST OTHleVSHHE &1 L LIGUFmeuula LIGHalsSTeuld
a. 6 ETBHBH6T b. 5 eyewibser . 7 oyewihder  d. 4 EWIBHET

123.Local self Government'was introduced by
a. Lord Ripon b. Gandhiji c. Indira Gandhi d. Rajiv Gandhi
OphHwnaled BdaTeudHHle0 CFWBLBLD 2 6ol & emIolmL (PHeT (LHFHede0
WL (LPenBLILIBSH S ULIeUT

a. Miuer gy b. ampdugser c. @pFHrmerhd  d. gredeisnhs)
124.In which year did the Government announce the National Population Policy?

a. February 2000 b. January 2001

c. August 1999 d. October 2002

Bxrdlw o6l OFHTeNd OFTeTmHmUI BHHU DFFTRSD DPlelshs SLewH{H

a. Ulgeurfl, 2000 b. meeufl, 2001

C. oiHeB, 1999 d. &&6Lmum, 2002

125.Centrally administered areas are
a. Cantonment Boards b. Town Area Committees
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c. Notified Area Committees d. Townships
oWl SIFleT HITaUTSHHMGSL UL L LGS H6T
a. @yremieud gnl eumflumigel b. Bay eeOemeLLILIGS

c. GUYULILL eTe0emeulILIGE (& (LDHD6IT d. mefwi

126. Which year is taken as the base year in India to estimate the National Income at
constant prices?
a.1993 - 94 b. 1980 - 81 c.1970-71 d. 1960 - 61

b DLEWIeNL SQLILIDL. WL THS OaTeni(h BbFHwmaled BeveowlTen alleneouled
BTLH QUIHLOTEID SHeidbdIL LILBSBEH?

a. 1993 - 94 b. 1980 - 81 c.1970 - 71 d. 1960 - 61
127.”"Money is that which does” This is defined by

a. Crowther b. Irving Fisher c. Walker d. Shapiro

‘LewTd  eTenHGUIeveUTD OFUIL 6ueLEVEHT SIFHIBe LIewTID.  GUEDTUIBIS HEUT

a. FOFenGHHT b. @maim . .NagT C. QUTHSBIT d. smiaGym
128.In which year was the National Policy on Education (NPE) formulated?

a. 1981 b. 1986 c. 1985 d. 1984

Cxpdlw Hevald Osmeliensd 2 (HeuTsHSLILIL L D6k

a. 1981 b. 1986 c..1985 d. 1984
129.The concept ‘Division Of Labour’ was‘introduced by

a. Adam Smith b. Alfred Marshall

c.J. M. Keynes d. Samuelson

‘CouemevLIG LI (LpewMB’ 6163 B(HHMSH DIMI(LPSLILBSHS UWIeUT

a. &yl 1beroidg b. o0, 95 rTaged . J.M. &aiterd d. arupGeicva e
130. The duration of 11tk Five Year Plan is

a. 2007 - 2012 b. 2002 - 2007

c. 2012 - 2017 d. 1997 - 2002

uFHCeurmymd WHFHTWI(HS S L& HT6VLD

a. 2007 - 2012 b. 2002 - 2007

c.2012 - 2017 d. 1997 - 2002
131. The river basins are per cent of the total geographical area in the world

a. 40 b. 50 c. 60 d. 70

® el GIoTsHS Hlevligrifed al(pHHTH MBI AUQHIEVRIBETS 2 6IT6T60T.

a. 40 b. 50 c. 60 d. 70

132. Waterborne disease is
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a. Cholera b. Leprosy c. Yellow fever d. Malaria
BT &b eumD Comul
a. SIeoyT b. GamugGmmul C. LDGHTFGIT &IJLD d. wGeoflwim

133.The largest continent in the world is

a. Africa b. Asia c. North America d. Europe

2 el WsLGUMW &HeurL LD

a. oifléasm b. o fwr C. ol oGwMdébasT d. sGymium
134.Which planet is called a snowball?

a. Earth b. Saturn c. Mars d. Pluto

UILILbBS 6160 DIMPSBLILGBLD Cpmer

a. yuo b. &l c. GFaieumul d. yem GLm
135.Molten Rock in underground is called

a. Magma b. Lava

c. Igneous rock d. Sedimentary rock

Hol @UioBg 6 BBoHGL UToBs Gy

a. LDT&Lom b. eomeur c. lumens d. ugeiuTenm

136. The 44th Amendment Act, 1978 abolished

a. Right to property b. Right to equality
c. Right to freedom d. Right to freedom of religion
1978 b oemi(h 44-6uz DFFwevemoliF FULSHFH(hHHSHIHg BHSILULL o flenw
a. QariHaifento b. FwdHaen o Meno
C. &HbATHHBHTOT 2_MewiD d. sowF ssbdisBsTtar o Menn
137. Permanent number of members in the Security Council of the UNO is
a. 4 b.5 c. 10 d.15
.1, uTgsTiY Curemeuuled BIHEHT 2 miliilerTaerlen eTeuwienllsHma
a. 4 b.5 c. 10 d.15

138.Human Rights day is observed on

a. December 10 b. December 14

c. December 20 d. December 24

weld 2 Menser SHlelbd SenLLILNgsHSUILGBD [HT6l

a. 1&IuT 10 b. w&buT 14 C. 19&IbuT 20 d. abuT 24

139.India 2020 - A Vision for New Millennium (1988) was Written by
a. Indira Gandhi b. L. K. Advani
c. Manmohan Singh d. Abdul Kalam
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‘BbhHwIT-2020 YHw HIBBTEOIYBSTET @(h UTTener (1998)° 6B LSHHBHMSD
eT(LD & WIeuT
a. BhFHTETHS b. LK. siseures

C. WeIGLrsedml d. om0 SevTD

140.Republic Day is observed on

a. 26th December b. 26t February

c. 26t November d. 26t January

GlWrs b SeFfeslILBLD HT6l

a. 26 1QFbUT b. 26 iyeuf C. 26 [HEUDLIT d. 26 eeurl

141. Currency with the public is known as

d. Ml b Mz C. M3 d M4
QuTal 1&HHIILID 2 6ol L|IPpdhHLI LIGWID 6T6TLISI
d. M1 b Mz C. M3 d M4
142. There exists a direct relationship between
a. Price and Demand b. Price artd Supply
c. Price and Income d. Price’and Tax
SeupPBslen, G Crry 2 me| smeaurliLbGHBHI?
a. alemev LOBBILD BHeme b.‘alevev oBBID SerfLiLy
C. alen6y LOBBID I(HLOTEILD d. aflenev BBID eur

143.Equilibrium price equalizes

a. Demand and supply b. Demand and Income

c. Supply and Production d. Demand and utility

FLOHleney allenev LS 6EMIL QUBMIGT 61H6M6T FLOGILIBHSHSHISBHI?

a. Gxemau BBID SerfltiL] b. Gxmemer WBBID GITHLOTEILD

C. oy WwBHID ‘2 BLUSHI d. Cxpeweu B®ID LWISTLIT(H
144. The changing agent of the society is

a. Consumer b. Entrepreneur

c. Labourer d. Distributor

FPSTWILD LOTHHD SHTEMID  (LP&H6UT

a. mIsTCeumT b. Qsmed (wenerGeurit

C. 2 LT d. elelGuirsedgT

145.Red tapism and corruption lead to
a. inefficiency of production b. inequality of income and wealth

c. absence of technology d. efficient use of resources
Ggleuter Geauemeoud, M&ULL (BLD SHLDSHHENILUBBIGT 61HMBE STITNIOTS aleMmiGHHBHI?
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a. 2 BusHHUWIST HBOIDS (FHHB6

b. aupwrend wBBID CFaSHHN gBBSH HTD6]
C. QxmPed HI LibleTento

d. euenmiBemend HBEDOWITS LIWLIGTLIGSHSHIH60

146. Which is the simplest of all cycles?

a. Nitrogen cycle b. Carbon cycle

c. Phosphorus cycle d. Water cycle
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147.How many layers does the atmosphere consist?

a.5 b.7 c.6 d.9

UGG 6VSHFH60 2 6T DI GHSH6N6I 61601600116 SH

a. b5 b.7 c.6 d.9
148. A typical gyre displays types of currents

a. three b. four C. siXx d. five
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149. The broadcasting earth ecosystem is

a. hydrosphere b.lithosphere

c. biosphere d. atmosphere
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150. The highest plateau of the world is

a. Deccan b. Colorado c. Tibet d. Malwa
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